HOW TO CODE AND DECODE MESSAGES

The code used to write the secret message to each Patrol is based on 36 characters consisting of all 26 letter in the alphabet and the numerals from 0 to 9. The alphabetical characters are upper case only. The characters are first listed in a definite order as shown below.
0 1 2 3 4 5 6 7 8 9 A B C D E F G H I J K L M N O P Q R S T U V W X Y Z
Usually, however, the characters are displayed in a 6x6 matrix as shown below. 
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Each horizontal row is labeled with a letter from A to F and each vertical column is labeled a number from 1 to 6. A character is identified by a row-column pair. for example "3" is A4,  "A" is B5, and "Z" is F6.

The second step is to choose a Secret Key. The key can consist of any number of characters, but no character can appear more than once. For example let us use
D O U B L E A G M Y S T R 1 3

Now remove all the characters that appear in the key from the original character list
0 1 2 3 4 5 6 7 8 9 A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

The leftover characters are shown below
0 2 4 5 6 7 8 9 C F H I J K N P Q V W X Z

When combined with the key, we get the following result that is shown as both a list and a matrix
D O U B L E A G M Y S T R 1 3 0 2 4 5 6 7 8 9 C F H I J K N P Q V W X Z
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Example plain text : THIS IS A TEST
Converted to code text: B6E2E3B5 E3B5 B1 B6A6B5B6
Each Patrol will be issued a different secret message and each message uses a different key to decode it. You can try decoding your message without your key, but it will be a lot easier to earn the key first.

